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BANKING AND FINANCIAL MANAGEMENT

First Paper (Financial Managem ént)

Time Allowed : Three Hours
G Part - A (9T1-3]) (Marks : 20)
ive names of any two responsibilities of a Modern Finance Manager.
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Maximum Marks : 100

Write any two limitations of financial statements.

Give two differences between current ratio and quick ratio.
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Give two differences between cash flow statement and cash budget.
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What is marginal cost of capital? ¥/
Name two methods of
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calculating cost of equity'capital.
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Give names of two techniq
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If P/V ratio is 50%, margin of safety is Rs.

ues of tinadcialforecasting.
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1,00,000/then make an

estimate of profit.
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What are defaulting,eosts? 9@
What is Economic Qrder Quantity?
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Part-B (9F1—4) (Marks : 20) e
Sheet Method of ‘estimating Working

What is projected Balance
DNy o o <81 3t Freor afes an £7

Capital? ¢
Explait the, ‘Lock-Box’ System.
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What is *“Walter's Formula® of dividend policy?
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State the Incidential or Routine Functions of Finance.
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What is stable dividend policy? Explain.
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Part-C (A1) (Marks : 60)

What do you understand by Financial

techniques of Financial Analysis in brief.
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Analysis? Explain various
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The following data are extracted from the published accounts of two

companies in an industry:

XLd. Y Ltd.
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17.

Sales 0
_ 16,00,
Net profit after tax 61 288

- Equity capital (Rs. 10 per share fully paid) 5,00,000

General reserve 1,16,000
6% 1911g-term debt 4,00:000
_Creditors 1,91,000
* Tax Paid 3 25,000

. Bank credit (short term) 30,000
Fixed assets 7,99,500
Inventories 1,65,500

. Other current assets 2,72,000

Rs.
15,00,000
79,000
4,00,000
3,21,000
3,30,000
2,74,000
30,000
1,00,000
7,95,000
4,04,500
2,26,000

You are required to prepare a statement of comparative ratios

showing liquidity, profitability and activity of the two companies

and give suitable comments.

W@%@ﬁﬁﬁﬁ?ﬁﬂ#ﬁﬁﬁﬁd@rmﬂﬁawﬁﬁr?%
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Tt 16.00,000, _15,00,000
XD & gg A 614500 79,000
" gfer g (qot wT R 3T 10 5)5,00 000  4.00,000
A DI . 16+000 3,21,000
- Qe ATl %07 £,00,000  3,30,000
FER 1,91.000 2,74.503
B GIRI 25,000 0,00
gw(wﬁﬁ) 30,000 1,00,000
TG grakt 7,99,500 7.95,000
oy RN 1.65.,500 4,04,383
FgiiEl 2,772,000 2,26,
ﬁ%,mﬂmamﬁmﬁhmm Ul @
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Followirlg &re the Balance Sheet of G Limitgdfas,faﬁ 31st March,

2011%and 2012 : Lo
31st March, 2011 and 2012)

Balance Sheet (as on 7 . 42018) -

» \Liabilities SR ;o 2%%5 1 be

General Reserve g%ggg g%ggg
P&LA/C ) . .

itors - 19,500 12,760

Provision for taxation 33%3 4%,288

Provision for doubtful debts ,0 ?lTTEU'
Total 3,360,300 3,31,
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Assets'

March 31

p 2011 S 2012
Buildings d
Plant and Machinery . / ?,gggg gg’ggg
Goodwill K 26,000 26,000
Investments | 20,000 22,500
Stock X vy
60,000 56,000
Debtors " 44,000 44,000
Prepaid expenses 140 600
Cash in hand | 16,000 18,000
3.36,300 3,451,100
}_\ddmona] Information : '
® The profit for the year was Rs. 17,200 which has been arrived
at after charging Rs. 6,100 by way depreciation afid increase
in provision for doubtful debts Rs. 400
(i) 'An interim dividend of Rs. 10,000, was paid in January,
CoL - 2012 : _ \ ‘
(iii) Additional plant was purchased in February, 2012 for Rs.
10,000. ' :
@iv) Investment (cost Rs. 10,000) was sold in November, 201 1for
' Rs. 9,600 and on 1st March, 2012 another investment was
: made for Rs. 2,500,
\2) Incomie tax Rs. 36,000 was paid during the year and charged

against the provisiomn:

Prepare a statement of changes in working capital and a statement of
sources and uses of ftmds. : :

31 9, 2011, 92012 ﬂﬁﬁﬁ%ﬁuﬁrmﬁﬁﬁ%

(Raferfaagor 31 7, 2011 9491 2012)

31
=R 2011 2012
| | . .
3 Qo : 200,000 2,00,000
g P - 42,800 52,000
rA-aIf @ 34,000 32,000
FEF 19,500 12,760
YA 38,000 42,000
<R o1 @ Ry ARG | 2,000 2,400
‘
AR 3,36.300 3,41.160
-
weafert 2011 2012
. .
= 93,600 90,000
w47 vd WA 76,560 84,060
=ifd 26,000 26,000

Scanned by CamScanner



IEIREIN
hy 20,000 22,500
IER 60,000 36,000
44,000 44,000
T & 140 600
GMCNEE 16,000 18,000
= 3,360,300 3ALIO0 -

LGKLE
99 & RIT T B IRT 117,200 ©. NN {F 6,100\%.

(1)
T T4 400 . GTe 01 & e e B BT
I A T | : -
(ii) &9, 2012¥% 10,000 9. SR ATHg.H. 9P T |
(iii) W@, 2012% 10,000 . &1 fRad e shd B T=
(iv) RfErT (@re 10,000) B TaRR, 2010 #9,600®. %
ST TR G 1 W, 2012 @ 12,5000 @ 3y [
U fH T | | \ |
) 63 ARA 36,000 6. ABTD PR T A ¢ IR
. N ¥ g Pl |
Wﬁa@ﬁqﬁaﬂ#mmwﬁﬁi$ﬁﬁﬁm&ﬁﬁm
R0 WR AR | _
o OR
The following figures relate,loAwo companies :
(Rs. Lakhs) '
- ‘Particulars Ram Ltd. . Shyam Ltd.
Sales 7,500 3,000
-~ Variable costs 1,800 900
Contribution 2,700 2,100
Fixed cost 1,350 1,200
.- Eamingbefore interest and tax 1,350 900
“\Interest 450 - . 300
. Profit before tax 900 - 600
\ You are required to : (i) Calculate the operating financial and
“ combined leverage for the two companies, and (ii) Comment on the
relative risk position of them.
2 Pl T sies PRI &:
~ - (. Gl H) -
faqvor M fe1. M fa.
CEd] : 4,500 3,000
R AR 1,800 900
M 2,700 2,100
T AR 1,350 1,200
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18. A multi-product company has the following cOsts and output data
. forlastyear:
= o . Product
= - , A B C
' Total )
Sales mix : 0% 35% 2%
) Selling price (Rs.) - 40 50 60
- Variable cost per unit (Rs.) 20 30 36
Total fixed costs (Rs.)
3,00,000
Total sales (Rs.)
10,00,000 (
The company proposes toreplace Pfodtct C by Product D. Estimated
cost and output data are : o
Product .
A B C
Total N |
Sales mix : 50% 30% 20%-
Selling price (Rs.) 40 50 60
Variable cost pef umit (Rs.) 20 30 36
Total fixed costs(Rs.) :
3,00,000
Total sales(Rs.)
10,00,000/

Should the company replace C by D? Show computations.
wag—mﬁmﬁa%ﬁ%?aéa%mmnwéwﬁw ]

A B C
et h AT T 40%  35%  25%
faepa 7 (§) ) 40 50 60
aRadeie T iy R (§) 20 30 36
5l <o AT () ©3,00,000
fﬁﬁ;ﬁ (%) ~10,00,000
FI SR caﬁwpﬂqﬁwﬁammzmﬁmm
vq frfn &% & » |
I . ;
A B  C '
g Rt A 50% 30% 20%

e
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BT IR AFTG (W) 3.00,000
@l 9! (W) ; 10,00,000
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OR
Explain the principle of #Trading of Equity. Discuss its utility to
management and poifit out ifs limitation. |
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